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Level 3 Economics 2024
91400 Demonstrate understanding of the efficiency of 

different market structures using marginal analysis

Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Demonstrate understanding of the 
efficiency of different market structures 
using marginal analysis.

Demonstrate in-depth understanding 
of the efficiency of different market 
structures using marginal analysis.

Demonstrate comprehensive 
understanding of the efficiency of 
different market structures using 
marginal analysis.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–15 in the correct order and that none of these pages is blank.

Do not write in the margins ( ). This area will be cut off when the booklet is marked.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

SUPERVISOR’S USE ONLY

Draw a cross through the box ( )  
if you have NOT written in this booklet

+

No part of the candidate’s evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining an NZQA qualification or award.
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Subject:  Economics 

Standard:  91400 

Total score: 9 

Q Grade 
score Marker commentary 

One A4 

The response was awarded A4 because the candidate:  
• correctly labelled Pe and Qe, shaded and labelled the subnormal 

profit, and made the correct changes on Graphs Two and Three 
• explained that in the long run the perfect competitor will make 

a normal profit. 
To gain an M5 grade or better, the candidate could have linked the 
key characteristics to the explanation of what happens to the 
firm’s output and price and profit in the long run. Marginal analysis 
when explaining why output increases and correct graph 
references are also required. 

Two N2 

The response was awarded N2. The candidate provided some 
achievement evidence by:  
• correctly labelling P1 and Q1 on Graph Five 
• partially explained that the monopolist’s output will decrease 

due to the fall in demand. 
However to gain an A3 grade or better, the candidate could have 
correctly shaded and labelled both graphs, referred to the profit 
maximising position having shifted to MC=MR1, and used marginal 
analysis when explaining why output decreases. 

Three A3 

The response was awarded A3 because the candidate:  
• correctly identified the type of profit made under each of the 

three pricing options 
• explained that consumers are best off under MC pricing due to 

the largest consumer surplus and are worst off under profit 
maximising due to the smallest consumer surplus 

• explained the type of profit made by the natural monopoly 
under each of the three pricing options and how the 
government would be affected.  

To gain an A4 grade or better, the candidate could have correctly 
identified the areas of consumer surplus and deadweight loss in 
Table One; given valid reasons for why MCP is best for consumers 
and profit maximising is worst for consumers; correctly explained 
that MCP is allocatively efficient while profit maximising is the least 
efficient using the concepts of deadweight loss, D=S, and the sum 
of CS and PS being maximised. Correct graph references would 
also be required. 

  




